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39.1.7
9b (18 877) 2 11a (D297 NPT 87 RDPT)

I n mwn: analysis of last two clauses in 1 mwn
a  ~”r any woman who had 3 mmy without o7 has rule of nnyw n»7
i ap77x r™Mrelated to wnon the story of a young girl who had 3 nmy interrupted and they allowed her nnyw n»7
1 Block: that was pnTn nyw — can’t bring proof
(a) Explanation: it was either a famine or she was involved with lots of m 10 —concerned about n1nv poan
ii #7272 027 ruled like 8™); and “after he remembered” — ruled that we can rely on 8™ for 7"nyw
1  explanation: he remembered that n35n wasn’t decided, yet 8”1 was opposed by na1->could rely on him pnTn nywa
iii ~ ap77x a girl who is pre-pubescent and sees — the 1%t and 2"d times, she has rule of nnyw 171, afterwards — like all (y">yn)
1  If: she has 3 mny w/o o7 and she sees — nnyw n77; if it happens again — same rule — 3™ time - like all women (»"9yn)
2 But if: she reached puberty, the 1+t time is nnyw 171, 274 (and on) is Y"9yn; if she missed 3 MmNy — nnyw n»7
(a) 27(on pre-pub): if she sees (after 1%t “gap”) during mn (i.e. at 30-day intervals) — gets nnyw n»7 first 2 times,
then y"oyn
(b) Then: ®n™a reads if she had a 90-day gap and then saw, 1%t and 2"d times are nnyw 7
(c) a7 if she sees at 30-day interval, nnyw n»7; a 2°d time — »"9yn
(i) Inference: follows 727, who allows for 2 times to establish pattern (npm)
(if) however: entire Xn>1 follows 8" who allows for any women who skips 3 mny to have rule of nnyw n»1
1. proposal: 721 is the author and he agrees with ®"’s position about mny
a. rejection: *27 is recorded (above) as “relying on 8™ in an exigency =»doesn’t agree
2. rather: X" agrees with 127 about nptn (after two times) and xn»11 is authored by 7y9R "
iv  an71x if a ond was seen (of pre-pubescent girl) between 1t and 2nd n»ry — 100
1  But: if seen between 2" and 3¢ n»x1
(a) prm nRnv - since, if she saw a 3™ n»RJ then, she’d be ®nv
(b)  jar112 77 NN — since she hasn’t yet become nTa nprmn — we don’t declare her to be nxno
2 x5 quoted Y "1 in the name of pT1n’ 92 W™ — if she was pre-pubescent and saw — the 1t and 2" time, her spit
and v17n are 0NNV (in PWY) = her NN are also D NNV
(a) Note: R9 wasn't sure if this was 130y "1’s ruling or P17 92 W™
(i) Issue: whether this position is now held by 2 or 1
(if) Resolution: 111 (and all 'mny) - quoted it as pT¥17» 72 W™
3 1 73 pbn 1. a pre-pubescent girl who sees — even if she is flowing all 7, only considered 1 n»x1
(a) Challenge: “even” if she is flowing — and certainly if she has breaks (interruptions in the flow)?
(b) Explanation: the opposite reasoning holds; if she has a break, should be considered 2 nxa
(c) Rather: if she is flowing all 7 — only 1 n»&
(d) ~7n 732 7w 1. if she is “dripping”, not considered n»x
(i) Challenge: she is seeing
1. Rather: this is not considered nyaw, rather like a broken series of n’x3
2. Challenge: must nyow be like a “flowing river” (without cessation)?
a.  Rather: if she is “dripping”, this is considered nyam
V. T:7 7772 Koo presumption of nnv for YR’ N2 who are pre-pubescent, and they don’t undergo np»1a
1 However: once they reach puberty, presumption of nkmv and they are checked
(a) Yet: they aren’t checked by hand, rather with soft oil which generates “self-check”
b Dissent: o1 "1 — pregnant and nursing only have rule of inyw 17 if they miss 3 mny
i Nz before n7a 12 ®™ taught — nNP2amy M1wn but concluded in the singular — 7129y 172YW — 3 MY are MNYW 177
1 ~77: perhaps that means only a n11wn who is also nursing, teaching that the times can join (n’970%n) per Rn»12
2 Challenge: how could nursing “continue” blood-less time of pregnancy; when she birthed, she had o7
(a) Answerl: could have been a “dry” birth
(b) Answer2: nT1 07 is not the same as N9 071
(c) Answer3: only taught that 1 direction works (112'p "1’ can be added to npan »m, if she got pregnant while nursing)
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Iy mwn: limitation of nnyw 7”7
a  Limited: to the first &1 (of any of these four); at 2" 1”84, already has rule of y"5yn
i Parallel disputes 5810w/37:: 13111 71/5”2w7. does limitation extend to all 4 listed (parallel to dispute w1 NN’ " Y0V "/N™)
1 57awm 37(and »™): extends to all 4
2 o srmpw (w71 79 ,2791): n'mna and n1wn always have inyw 177 throughout their pregnancy/nursing
b However: if first n»&7 happened due to o1y, 2nd n»Kr7 is also nyw 177
i an7 77 if she jumped and saw — that is onRn N»RY; if she did it again and saw (3 times) — she has a non
1 Question: what is her non?
(a) Can'’t be: for days — since, any day she doesn’t jump, she doesn’t see
(b) Rather: must be for “jumps” —i.e. if she jumps, she will see
(i) Challenge: if the cause of seeing D7 is V)R — even several times — no nom is established
1. Doesn’t that mean: that no non is established at all?
2. Correction: it means that there is no independent “day-non” or “jump-non”
a.  But: there is a non for day+jump
3. Challenge: isn’t it obvious that she has no “day-non”?
4. Answer (?®x 27): case where she jumped on 'R Dy and saw, then another '® 0¥ (e.g. 4 weeks later) and saw,
then she jumped on a naw (a few weeks later) and didn’t see — but saw the next day ('x ov)
a.  We might have thought: that we now have retroactive confirmation that the day was the cause
b.  Therefore: we learn that the previous day’s jump was also a contributing factor
i.  And: the reason she didn’t see the day before — was that the time hadn’t arrived just yet
it N17 77 (alternate version): if she jumped and saw three times — has non for days, but not for jumps
1 Case:'wR "1 —jumped on 'R D and saw, jumped on a later ' DV and saw then jumped on naw and didn’t see but saw on
the next day ('R nv) - proving (retroactively that it was the day and not the jumping that caused it)
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